
 

 

 

2.  ∎𝑺𝒐𝒍𝒗𝒆 𝒕𝒉𝒆 𝒇𝒐𝒍𝒍𝒐𝒘𝒊𝒏𝒈 𝒆𝒒𝒖𝒂𝒕𝒊𝒐𝒏𝒔.                                                                      

i) │𝟑𝒙 − 𝟓│ = 𝟒  

(Solution):         │3𝑥 − 5│ = 4 

3𝑥 − 5 = ±4 

                      𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {
𝟏

𝟑
, 𝟑} 

ii) 
𝟏

𝟐
│𝟑𝒙 + 𝟐│ − 𝟒 = 𝟏𝟏 

(Solution):│
3𝑥+2

2
│ = 11 + 4                            

                   │
3𝑥+2

2
│ = 15                                                 

               2 ×
│3𝑥+2│

2
= 15 × 2                                        

𝟑𝒙 − 𝟓 = 𝟒 
𝟑𝒙 = 𝟒 + 𝟓 

𝟑𝒙 = 𝟗 
𝒙 = 𝟑 

𝟑𝒙 − 𝟓 = −𝟒 
𝟑𝒙 = −𝟒 + 𝟓 

𝟑𝒙 = 𝟏 

𝒙 =
𝟏

𝟑
 

 

 



                │3𝑥 + 2│ = 30                                              

                      3𝑥 + 2 = ±30 

 

𝟑𝒙 + 𝟐 = 𝟑𝟎 
                   𝟑𝒙 = 𝟑𝟎 − 𝟐                 
                   𝟑𝒙 = 𝟐𝟖                   

                     𝒙 =
𝟐𝟖

𝟑
 

𝟑𝒙 + 𝟐 = −𝟑𝟎 
                 𝟑𝒙 = −𝟑𝟎 − 𝟐            
                 𝟑𝒙 = −𝟑𝟐 

          𝒙 =
−𝟑𝟐

𝟑
 

 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {
𝟐𝟖

𝟑
,
−𝟑𝟐

𝟑
} 

iii)    │𝟐𝒙 + 𝟓│ = 𝟏𝟏 

(Solution):         2𝑥 + 5 = ±11 

𝟐𝒙 + 𝟓 = 𝟏𝟏 
𝟐𝒙 = 𝟏𝟏 − 𝟓 

𝟐𝒙 = 𝟔 

𝒙 =
𝟔

𝟐
 

 𝒙 = 𝟑 

𝟐𝒙 + 𝟓 = −𝟏𝟏 
                 𝟐𝒙 = −𝟏𝟏 − 𝟓 
                 𝟐𝒙 = −𝟏𝟔     

                    𝒙 =
−𝟏𝟔

𝟐
 

𝒙 = −𝟖 
 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {−𝟖, 𝟑} 

iv)  │𝟑 + 𝟐𝒙│ = │𝟔𝒙 − 𝟕│ 



(Solution):         3𝑥 + 2 = ±6𝑥 − 7 

𝟑 + 𝟐𝒙 = 𝟔𝒙 − 𝟕 
𝟑 + 𝟕 = 𝟔𝒙 − 𝟐𝒙 

𝟏𝟎 = 𝟒𝒙 
𝟒𝒙 = 𝟏𝟎 

𝒙 =
𝟏𝟎

𝟒
 

𝒙 = {
𝟓

𝟐
} 

𝟑 + 𝟐𝒙 = −(𝟔𝒙 − 𝟕) 
𝟑 + 𝟐𝒙 = −𝟔𝒙 + 𝟕 
𝟑 − 𝟕 = −𝟔𝒙 − 𝟐𝒙 

−𝟖𝒙 = −𝟒 

𝒙 =
𝟒

𝟖
 

𝒙 = {
𝟏

𝟐
} 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {
𝟓

𝟐
,
𝟏

𝟐
} 

v)  │𝒙 + 𝟐│ − 𝟑 = 𝟓 − │𝒙 + 𝟐│ 

(Solution): │𝑥 + 2│ + │𝑥 + 2│ = 5 + 3 

2│𝑥 + 2│ = 8 

  │𝑥 + 2│ = 4 

           𝑥 + 2 = ±4 

𝒙 + 𝟐 = 𝟒 
                𝒙 = 𝟒 − 𝟐 

        𝒙 = 𝟐 

𝒙 + 𝟐 = −𝟒 
                   𝒙 = −𝟒 − 𝟐 

       𝒙 = −𝟔 
 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝟐, −𝟔} 



vi)     
𝟏

𝟐
│𝒙 + 𝟑│ + 𝟐𝟏 = 𝟗 

(Solution):      
1

2
│𝑥 + 3│ = 9 − 21 

1

2
│𝑥 + 3│ = −12 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 𝒊𝒔 𝒏𝒐𝒕 𝒑𝒐𝒔𝒔𝒊𝒃𝒍𝒆. 

 

vii)     │
𝟑−𝟓𝒙

𝟒
│ −

𝟏

𝟑
=

𝟐

𝟑
 

(Solution):    │
3−5𝑥

4
│ =

2

3
+

1

3
 

│
3 − 5𝑥

4
│ =

2 + 1

3
 

│
3 − 5𝑥

4
│ = 1 

3 − 5𝑥

4
= ±1 

 

𝟑 − 𝟓𝒙

𝟒
= 𝟏 

𝟑 − 𝟓𝒙 = 𝟒 
−𝟓𝒙 = 𝟒 − 𝟑 

𝟑 − 𝟓𝒙

𝟒
= −𝟏 

𝟑 − 𝟓𝒙 = −𝟒 
−𝟓𝒙 = −𝟒 − 𝟑 



−𝟓𝒙 = 𝟏 

𝒙 =
−𝟏

𝟓
 

−𝟓𝒙 = −𝟕 

𝒙 =
𝟕

𝟓
 

 

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {
−𝟏

𝟓
,
𝟕

𝟓
} 

 

viii)    │
𝒙+𝟓

𝟐−𝒙
│ = 𝟔 

(Solution): │
𝑥+5

2−𝑥
│ = 6                                              

                            
𝑥+5

2−𝑥
= ±6 

𝒙 + 𝟓

𝟐 − 𝒙
= 𝟔 

 
𝒙 + 𝟓 = 𝟔(𝟐 − 𝒙) 

 
𝒙 + 𝟓 = 𝟏𝟐 − 𝟔𝒙 

 
𝒙 + 𝟔𝒙 = 𝟏𝟐 − 𝟓 

 
𝟕𝒙 = 𝟕 

 

𝒙 + 𝟓

𝟐 − 𝒙
= −𝟔 

 
𝒙 + 𝟓 = −𝟔(𝟐 − 𝒙) 

 
𝒙 + 𝟓 = −𝟏𝟐 + 𝟔𝒙 

 
𝒙 − 𝟔𝒙 = −𝟏𝟐 − 𝟓 

 
−𝟓𝒙 = −𝟏𝟕 

𝒙 =
𝟏𝟕

𝟓
 



𝒙 = 𝟏  

𝑺𝒐𝒍𝒖𝒕𝒊𝒐𝒏 𝑺𝒆𝒕 = {𝟏,
𝟏𝟕

𝟓
} 

 

 

 

 


